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EQ4AW (plot by DAT)
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EQ4AW TsN1 (plot by DAT)
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Days After Budding

EQ4AW TsN2 (plot by DAT)
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EQ4AW TsN3 (plot by DAT)
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EQ4AW TsN4 (plot by DAT)
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EQ4AW TsN5 (plot by DAT)
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Days After Budding

EQ4AW TsN6 (plot by DAT)
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EQ4AW (plot by adjDAT)

—————e
e

||r+
* -®
1 0--"9
__l.“ 1
.Inl_ ..Iﬂ
1
I
®--lig ! e
-@ “+-1@ L-@ |‘
Te !l 1 o !
_.".*“ _|. _r rlq
g e T
g e 19 T Y
5.5 ® Lo 9 -9
Hll‘r | | Y )
* _.a -|. -.* 1
1 c 1 t®
1 =3 -9 I I -9
__ _I.* | % L -Q
4_ ‘¢ .ﬁ ‘9 ‘o |
T LTt Lg &
LA B
1 _|0 -9 ..ﬂ I “
_I4 “I. ..* _I. “ !
-9 ] 1 1 Fllf
1 9 -9 -9 leeem®
_I. | Lo | i
e 7. le i “
_ = | S
v Ty T
SR
L Lol
_a.o - T
L Yel
--@ 1V
e |5
= ®
|||||||||||||||||||||||||w«||thw |||||||||
1o
1 1 1 <
| trE-e
--—-9,<
Iy
1y
Iy
| ————— ©
“
_ 2
“ 5
I ©
L o &
o o o o o o o
(o] LN < m (q\] —

Buippng a1y sAeqg

100

80

60

40

20

Days After Transplant



EQ4AW TsN1 (plot by adjDAT)
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Days After Budding

EQ4AW TsN2 (plot by adjDAT)
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Days After Budding

EQ4AW TsN4 (plot by adjDAT)
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EQ4AW TsN5 (plot by adjDAT)

_.
Tl 4
I Harvept

|_'_ _.
Turn Color

[~ S

I
[
fm————0
Fruit Set

Anthesis

Budding

Buippng 1oy sAeqg

60 70 80 90

Days After Transplant

50

40

30



Days After Budding

EQ4AW TsN6 (plot by adjDAT)
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Plot Env Data
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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